

BID BULLETIN 01

Date: 14 November 2022

Project Title: Supply and Delivery of Construction and Electrical Supplies (GOODS-22-49)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

(1st Envelope) TECHNICAL COMPONENT ENVELOPE						
Legal Documents						
1	PhilGEPS Certificate of Registration (Platinum)					
Technical Documents						
2	Statement of All On-Going Government & Private Contracts					
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 1,042,388.75 .					
	Or					
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 1,042,388.75 and the largest of which should be at least PhP 521,194.38					
4	Bid Security					
5	Technical Specifications					
6	SCHEDULE of Requirements/Production and delivery schedule					
7	Manpower Requirements					
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies)					
9	Original Duly Signed Omnibus Sworn Statement					
Financial Documents						
10	The Supplier's Audited Financial Statements					
11	Net Financial Contracting Capacity (at least Php 4,169,555.00)					
	Or					
	Committed Line of Credit (at least Php 416,955.50)					
(2 nd Envelope) FINANCIA	L COMPONENT ENVELOPE					
12	Original of duly signed and accomplished Financial Bid Form					
13	Original of duly signed and accomplished Price Schedule(s)					



Please take note:

1. In the Technical Specifications, bidders must state either "Comply" or "Not Comply" against each of the individual parameters of the specifications per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or GCC Clause 2.1 (a)(ii).

2. Bidders are advised to use the latest GPPB forms for the following documents:

- a) Omnibus Sworn Statement
- b) Performance Securing Declaration (if applicable)
- c) Price Schedule for Goods Offered
- d) Bid Form
- e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Scan per document into Portable Document Format (PDF) and should be printable.
- 2. Properly label all scanned documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government & Private Contracts	Statement of On-Going Contracts
3.	Statement of Bidder's Single Largest Completed Contract	SLCC
4.	Statement of at least two (2) similar completed contracts	Statement of Completed Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7. 8.	SCHEDULE of Requirements/ Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at **jessamine.ecleo@vsu.edu.ph** before the deadline.

III. Changes in the Bidding Documents

Original	
Original Section I. Invitation to Bid 5. A complete set of Bidding Documents may be acquired by interested Bidders on 22 October – 22 November 2022 until 9:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	 (Amendment) 5. A complete set of Bidding Documents may be acquired by interested Bidders on 22 October – 22 November 2022 until 9:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means. The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund
	bidding documents to the Visayas State University Landbank Account with the following
	Then send the deposit slip to jessamine.ecleo@vsu.edu.ph



Section II. Instructions to Bidders 15. Sealing and Marking of Bids	<i>(Additional Instructions)</i> Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2. For filing purposes, the bidders are urged to use
	Light Blue envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

ltem No.	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	Abrasive Paper, Sand Paper Grit #120, 9" x 11"	sheet	30	30.00	900.00
	Fine Sanding, Waterproof, Good Quality				
2	Acrytex Cast	gal	50	600.00	30,000.00
3	Angle Grinder, 4"Ø (100mm)	рс	1	4,500.00	4,500.00
	■Heavy Duty				
	Durable				
	Power Rating: At least 840 Watts				
	■No load speed: At least 11,000 rpm				
	Wheel diameter: 4"(100mm)				
4	Ballast, Fluorescent, 40W	pcs	10	280.00	2,800.00
	■Good quality				
	■Durable				
5	Blind Rivets, 5/32" x 1/2" at least 1000 pcs. per box	boxes	20	1,082.25	21,645.00
6	Blue Sack Sakolin Lona-delete	roll	2	7,000.00	14,00.00
	Blue Sakolin Water proof Lona-delete 8' x 100m/roll				
7	Bulb Socket, PVC	рс	25	50.00	1,250.00
	■Standard size,				
	■round,				
	ISO Certified and Good Quality				
8	Bulb, LED, 15W	pieces	65	300.00	19,500.00
	Wattage: 15 Watts				
	■Lumens: 1521				
	■Color Temp.: Daylight				
	Beam Angle: 200 degrees				
	■Voltage: 170-240 V AC 50/60Hz				
	■Bulb Holder: E27				
	■Life Hours: 15,000 hrs.				
	Material: PC cover & Aluminum PCB				
9	Bulb, LED, 9W	piece	50	150.00	7,500.00
10	Carrying Channel, 12mm x 38mm x 5 meters, 0.8mm (thickness)	pieces	167	185.00	30,895.00
11	Cement, Portland	bag	28	300.00	8,400.00
	■Type 1P, Premium Quality	-			
	■ASTM C150				
12	Cement, Portland	bag	5	300.00	1,500.00
	■Type 1P, Premium Quality	Ĭ			·
	■ASTM C150				





13	Coco Lumber, 2" x 2" x 8'	niaco	30	95.00	2,850.00
13	Crushed Stone (around 10mm diameter size)	piece	2	3,500.00	7,000.00
14	Cutting Disc for Steel/Stainless, 4"	cu.m. piece	200	60.00	12,000.00
15	Digital Clamp meter with test probe and carrying	piece	200	00.00	12,000.00
16	Case	piece	1	7,500.00	7,500.00
	Measuring Capacitance Range: At least 60mF				
	Dimensions: Approx. (220mm x 75mm x 40mm)				
	Measuring Voltage Range: At most 750V				
	Operating Temperature: 0-40°C				
	Measuring Resistance Range: 60MΩ				
	Measuring Inductance Range:10Hz~1MHz				
	Measuring Current Range: at most 600A				
	Digital Display				
	Jaw opening: At least 30mm				
	■Temperature:-40°C~1000°C				
17	Door Closer, Good Quality	set	2	2,000.00	4,000.00
	■Max Door Width: 950mm,		_	_,	.,
	Max Door Weight: 60kg				
	Arm Type: Adjustable(Standard)				
	Operating Angle: 180 deg				
18	Door Knob	piece	12	1,000.00	12,000.00
10	Interior Type Cylindrical Door Knob Lockset	piece	12	1,000.00	12,000.00
	Good Quality				
	Double Furring, 19mm x 50mm x 5m, 0.40mm				
19	(thickness)	pieces	600	195.00	117,000.00
20	Electrical (PVC) Clip, 1/2"	n 00	400	F 00	2 000 00
20 21	Electrical (PVC) Long Sweep Elbow, 3/4" x 90deg	pcs	400	5.00	2,000.00
21	Electrical (PVC) Long Sweep Elbow, 3/4 x 90deg	pcs	5	75.00	375.00
22	90deg	pcs	20	50.00	1,000.00
22			25	120.00	4 200 00
23	Electrical Conduit (PVC), 1/2" x 10	pcs	35	120.00	4,200.00
24	Electrical Conduit, (PVC) Orange, 1/2" x 3m	length	112	120.00	13,440.00
25	Electrical Conduit, (PVC) Orange, 3/4"(25mm) x	length	100	160.00	16,000.00
	3m	-			
20	Sched 40, Durable, Good Quality		4	100.00	100.00
26	Electrical Entrance Cap, 3/4"	set	1	100.00	100.00
07				45.00	45.00
27	Electrical PVC Male Adaptor, 3/4"	pcs	1	45.00	45.00
28	Electrical Square Box (PVC), 6" x 6"	pcs	2	160.00	320.00
29	Electrical Switch, 2-gang, Flush type	pcs	2	150.00	300.00
30	Electrical Switch, 3 Gang (Flush type)	sets	2	200.00	400.00
31	Electrical Switch, Single (Flush type)	set	2	150.00	300.00
32	Electrical Tape, Vinyl	rolls	20	70.00	1,400.00
	Flame retardant and compatible with plastic cable				
	and wire harness insulations				
	Flexible PVC with aggressive rubber adhesive				
	Primary electrical insulation for all wire and cable				
	splices rated up to 600 volts.				
	■19mm x 16m x 0.155mm				
	Heavy Duty				
	ASTM approved				
33	Electrical Wire, Flat cord #16/2Core	meters	120	30.00	3,600.00
	Wire Flat cord #16/2 Core				
34	Electrical Wire, Gauge 8/7(8.0 mm2) TW,	meters	50	70.00	3,500.00
54	Stranded (Green)	THELEIS	50	70.00	3,500.00
35	Electrical Wire, THHN / THWN, AWG 12	boxes	2	6,000.00	12,000.00
30	(3.5mm2), Stranded, 150 meters/box	00762	2	0,000.00	12,000.00
	Building Wire				
	Stranded with Nylon Insulation				
	Bottanded with typon modulion				





	■UL listed				
36	Electrical Wire, THHN / THWN, AWG 14	boxes	11	3,600.00	39,600.00
	(2.0mm2), Stranded, 150 meters/box			,	,
	Building Wire (Green Color)				
	Stranded with Nylon Insulation				
	Gauge 14				
	UL listed				
37	Electrical Wire, THHN/THWN, AWG 10 (5.5 mm2),	meters	50	45.00	2,250.00
57	Stranded	Incleis	50	45.00	2,230.00
	Building Wire				
	Stranded with Nylon Insulation				
	■Gauge 10				
	■UL listed				
~ ~	Electrical Wire, THHN/THWN, AWG 6 (14 mm2),			100.00	
38	Stranded	meters	150	130.00	19,500.00
	Building Wire				
	Stranded with Nylon Insulation				
	Gauge 6				
	UL listed				
39	Electrical, 2 gang convenience outlet with	set	42	300.00	12,600.00
	ground (flush type)				
40	Electrical, 2 gang convenience outlet, (surface	pcs	10	70.00	700.00
-	type) universal	1	_		
	Gang Convenience outlet surface type universal				
41	Electrical, Junction Box (Octagonal) with cover,	pcs	58	45.00	2,610.00
	PVC	poo			
42	Electrical, PVC long sweep elbow, 1/2" x 90deg	pcs	300	15.00	4,500.00
43	Electrical, Utility Box, 2" x 4"(Surface Type)	pcs	51	50.00	2,550.00
44	Epoxy, A & B (Liter/set)	set	2	700.00	1,400.00
	All Purpose Structural Adhesive				
	Premium Grade				
45	Extension wire with 4 gang Universal		4	500.00	500.00
45	Convenience Outlet, at least 10m long	рс	1	500.00	500.00
	at least 10 amperes wire capacity				
46	Faucet, Brass (Ordinary)	piece	30	400.00	12,000.00
47	Fire Extinguisher, Dry Chemical (ABC), 10lbs	unit	3	3,000.00	9,000.00
	ISO Certified		Ŭ	0,000.00	0,000100
	Dry Chemical recommended for all classes of fires				
	Non Toxic				
	Non Conducting and Non Corrosive Chemical				
40	FLARING TOOLS SET (for 1/4" 5/16" 3/8" 1/2"			0 000 00	0 000 00
48	5/8" 3/4") 45° Eccentric Cone Type HEAVY DUTY	set	1	2,200.00	2,200.00
	For: 1/4",5/16",3/8",1/2",5/8"& 3/4" O.D. (6mm,				
	8mm, 10mm, 12mm, 16mm & 19mm O.D.)				
	\square Type: 45° Eccentric Cone Type				
	☑ □ Packed in a carrying plastic case.				
	\square Easy operation, save time and energy.				
49	Floor Tiles, (Unskid) Beige, 60cm x 60cm	pcs	300	250.00	75,000.00
49 50	Fluorescent Tube, 40 watts		300	300.00	9,000.00
<u>50</u> 51	Flush Door with Louver (PVC)	pc sots	2		
DI		sets	2	2,500.00	5,000.00
	Dimension: 70 x 210 35mm thick			00.00	000.00
52	G.I. Tie Wire #16	kl	11	90.00	990.00
	Good Quality				
53	Garden Hose, 1/2"Ø, at least 50 meters per roll	roll	1	2,050.00	2,050.00
54	Good Lumber Wood 2x2x12 (s4s)	pcs	15	400.00	6,000.00
		1 1 1	0.2	600.00	49,800.00
55	Good lumber, 2" x 3" x 10'	length	83	000.00	+5,000.00
55 56	Good lumber, 2" x 3" x 10' Good Lumber, 2" x 6" x 12'	length pcs	50	1,500.00	75,000.00





$\underline{}$					
	Displacement 35.8cc Single Cylinder OHC Aircooled				
	O.95KW/6500 RPM Recoil starterDiaphragm				
	Carburetor0.63L tank0.1L oil tankGX35 Japan				
	Quality Engine FREE: Nylon Cutter and Metal Blade				
58	GRASS CUTTER, 4 stroke	unit	1	20,000.00	20,000.00
59	Grinding Disc, 4"		150	80.00	12,000.00
- 59		pcs	150	00.00	12,000.00
60	Gutter, Spanish, big, 0.40mm, thick, Prepainted,	piece	50	886.00	44,300.00
	Biege	p.000			
61	Heavy Duty Electric Hand Drill	рс	1	2,500.00	2,500.00
	Rated power input 320 W				
	No-load speed 0 - 4 / 200 rpm				
	Weight without cable 1 kg				
	Chuck capacity 6,5 mm				
-	Length 204 mm				
	Width 58 mm				
	Height 174 mm		100		
62	Hose, Rubber, 1/2"Ø	meter	100	30.00	3,000.00
	Durable, Good Quality				
63	Inverter Type Portable Welding Machine	set	1	15,000.00	15,000.00
	Inverter, IGBT, DC, 300A;				
64	Ladder, 4 step folding aluminum	unit	1	6,500.00	6,500.00
	Multi-purpose extension ladders		-	-,	-,
-	In and a suppose extension radiation radiation and a suppose extension radiation radiation and a suppose extension radiation radiatina radiatina radiatina radia				
05	Cheavy duty w/ hand grip			00.000.00	00.000.00
65	Lawn Mower 4.5HP, 4 Stroke, 20"	unit	1	23,000.00	23,000.00
66	LED Bulb, 9 watts	pcs	5	150.00	750.00
67	LED Tube with housing (T8), 18 watts, 4ft	set	15	500.00	7,500.00
07	(Daylight)	301	15	500.00	7,500.00
68	Louver Fluorescent LED Light	set	21	1,200.00	25,200.00
	Specification:; 36 watts single recessed type 1 x			,	
	4ft				
69	Lumber, 2 x 2 x 8"	pcs	10	345.00	3,450.00
70	Nails, Common Wire, 1-1/2"	kl	53	90.00	4,770.00
70	Nails, Common Wire, 3"	kl	3		
/ 1	· · · ·	KI	3	90.00	270.00
	Smooth Shank				
72	Nails, Common Wire, 4"	kl	12	90.00	1,080.00
	Smooth Shank				
73	Nails, Concrete, 2"	kl	1	90.00	90.00
	Fluted Shank				
74	Nails, Roofing (Umbrella), 2 1/2"	kl	150	130.00	19,500.00
	Twist Shank				,
75	Nipple G.I. 1/2" x 1" dia.	pcs	30	100.00	3,000.00
76	Paint Brush, 2"		11	50.00	550.00
10		pcs		50.00	00.00
	Durable bristles				
L	Heavy duty metal ferrules				
77	Paint Brush, 2-1/2"	pcs	5	85.00	425.00
78	Paint Brush, 4"	pcs	40	90.00	1,1280.00
79	Paint Brush, Lettering, 1/2"	piece	4	100.00	400.00
	Camel's hair, Good Quality				
80	Paint Brush, Roller with handle, 7"	piece	6	100.00	600.00
	Durable, Good Quality	P1000		100.00	000.00
01	Paint Flat Latex, Good Quality	<u>aol</u>	FO	750.00	27 500 00
81	· · · · · · · · · · · · · · · · · · ·	gal	50	750.00	37,500.00
82	Paint, Acrytex Primer, White	gallon	14	1200.00	16,800.00
83	Paint, Flat wall Enamel, White	gallon	34	750.00	25,500.00
	Premium Quality Paint				
84	Paint, Latex Flat, White	gallon	12	750.00	9,000.00
	Premium Quality Paint				
85	Paint, Latex, Semi Gloss, White	gallon	124	780.00	96,720.00
	Premium Quality Paint	32.1011			20,120.00
L	r romann caunty r ann				



Premium Quality	ERO			-		
87 Paint, QDE, Green or similar to baguio green gallon 100 72.000 72.000.00 Premium Quality Paint gal 100 695.00	86	Paint, Metal Primer, Red Oxide	gallon	378	550.00	207,900.00
Premium Quality Paint Paint, QDE, Maple gal 100 695.00 605.00						
88 Paint, QDE, Maple gal 100 695.00.00 Premium Quality Paint gallon 54 800.00 43,200.00 Premium Quality Paint gallon 54 800.00 43,200.00 Premium Quality Paint gallon 150 800.00 120,000.00 Premium Quality Paint gallon 25 900.00 22,500.00 92 Paint, TTC, Reurt Sienna, Latex L 50 500.00 25,000.00 Premium Quality L 50 500.00 25,000.00 Premium Quality L 50 500.00 25,000.00 Premium Quality L 50 500.00 25,000.00 Panel Board, 6 holes plug-in type pc 1 5,000.00 5,000.00 panel board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes 2 pole (1 pc 15 amperes 2 pole 2 1 1 100.00 2,000.00 Sched 40, Good Quality L 1 1 150.00 1 50.00 50.00 97 Pipe Fittings (G.I.) Nipp	87	Paint, QDE, Green or similar to baguio green	gallon	100	720.00	72,000.00
Premium Quality Paint Paint, Rode, White gallon 54 800.00 43,200.00 Premium Quality Paint gallon 150 800.00 120,000.00 Premium Quality Paint gallon 150 800.00 120,000.00 Premium Quality Paint gallon 25 900.00 22,500.00 Premium Quality Paint L 50 500.00 25,000.00 Premium Quality L 50 500.00 25,000.00 93 Paint, TTC, Burt Sienna, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 95 Panel Board, 6 holes plug-in type pc 1 5,000.00 5,000.00 96 Pipe, (G.I.), 3/4" & 20' length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 98 Pipe Fittings (G.I.) Nipple, 1/2" X 2", Sched 80 pcs 30 50.00 1,500.00 98<		Premium Quality Paint				
89 Paint, DDE, White gallon 54 800.00 43,200.00 Premium Quality Paint gallon 150 800.00 120,000.00 Premium Quality Paint gallon 25 900.00 22,500.00 90 Paint, Roofshield, Casa Blue gallon 25 900.00 22,500.00 91 Paint, Roofshield, Casa Blue gallon 25 900.00 22,500.00 92 Paint, TTC, Raw Sienna, Latex L 50 500.00 25,000.00 Premium Quality - - - - - - 93 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 5,000.00 95 Panel Board, 6 holes plug-in type pc 1 5,000.00 5,000.00 96 Pipe, (G.I.), 34'4 x 20' length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32'' kl 1 150.00 15	88	Paint, QDE, Maple	gal	100	695.00	69,500.00
Premium Quality Paint - - - 90 Paint, Roof, Baguio Green gallon 150 800.00 120,000.00 Premium Quality Paint gallon 25 900.00 22,500.00 91 Paint, Roofshield, Casa Blue gallon 25 900.00 22,500.00 Premium Quality L 50 500.00 25,000.00 91 Paint, TTC, Rw Sienna, Latex L 50 500.00 25,000.00 92 Paint, TTC, Rw Sienna, Latex L 50 500.00 25,000.00 94 Paint, TTC, Rw Sienna, Latex L 50 500.00 25,000.00 94 Paint, TC, Red Toloudine, Latex L 50 500.00 5,000.00 95 Panel Board, 6 holes plug-in type pc 1 5,000.00 5,000.00 95 Panel Board, 6 holes plug-in type, copper bush bar , single phase, 60 amperes, 2 pole; 1 pc 15 amperes 2 1 5,000.00 2,000.00 96 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30		Premium Quality Paint				
90 Paint, Roof, Báguio Green gallon 150 800.00 120,000.00 Premium Quality Paint 9 Paint, Roofshield, Casa Blue gallon 25 900.00 22,500.00 92 Paint, TTC, Burrit Sienna, Latex L 50 500.00 25,000.00 93 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 95 Paele Board, 6 holes plug-in type pc 1 5,000.00 5,000.00 90 Panel Board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole (1 pc 15 amperes 2 pole; 1 pc 15 amperes 2 pole; 0 (2 cked 40, Good Quality 1 150.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 2,060.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 2,080.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 4", Sched 80 length	89	Paint, QDE, White	gallon	54	800.00	43,200.00
Premium Quality Paint Paint, Roofshield, Casa Blue gallon 25 900.00 22,500.00 Paint, TTC, Burnt Sienna, Latex L 50 500.00 25,000.00 Premium Quality L 50 500.00 25,000.00 Paint, TTC, Rwr Sienna, Latex L 50 500.00 25,000.00 Panel Board, 6 holes plug-in type pc 1 5,000.00 5,000.00 2,000.00 galobard, 6 holes plug-in type, copper bush bar , single phase, 60 amperes, 2 pole Main; 2 pcs. 20 amperes. 2 2 1 5,000.00 2,000.00 2,000.00 Sched 40, Good Quality D D D D D 2,000.00 5,000.00 1,500.00 1,500.00 97 Welding Rod, E-601, 3/32" kl 1 150.00 2,000.00 Schoud 40, Good Quality D						
91 Paint, Roofshield, Casa Blue gallon 25 900.00 22,500.00 92 Paint, TTC, Burnt Sienna, Latex L 50 500.00 25,000.00 93 Paint, TTC, Raw Sienna, Latex L 50 500.00 25,000.00 94 Paint, TTC, Raw Sienna, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 95 Patel Board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole Main; 2 pcs. 20 50 500.00 2,000.00 96 Pipe, (G.I.), 3/3* Φ x 20° length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 50.00 2,080.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 2,080.00	90	Paint, Roof, Baguio Green	gallon	150	800.00	120,000.00
92 Paint, TTC, Burnt Sienna, Latex L 50 500.00 25,000.00 Premium Quality L 50 500.00 25,000.00 Paint TTC, Rad Toloudine, Latex L 50 500.00 25,000.00 94 Paint, TTC, Rad Toloudine, Latex L 50 500.00 5,000.00 95 Panel Board, 6 holes plug-in type pc 1 5,000.00 5,000.00 96 Pipes, G1.), 3/4" \$ 20' length 2 1,000.00 2,000.00 96 Pipe, G1.), 3/4" \$ 20' length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcc 1 50.00 2,080.00 98 Pipe Fittings (G.I.) Tee, 1		Premium Quality Paint				
Premium Quality L 50 500.00 25,000.00 Premium Quality L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 95 Panel Board, 6 holes plug-in type, copper bush bar , single phase, 60 amperes, 2 pole Main; 2 pcs. 20 1 5,000.00 5,000.00 96 Pipe, (G.I.), 3/4" \$\phi \$\phi 20' Length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 98 Pipe Fittings (G.I.), Tee, 1/2" X 6", Sched 80 length 5 150.00 750.00 99 Pipe Fittings, (G.I.), Marine, 3/4" x 10' length 5 150.00 750.00 9101 Pipe, QOL God Qua	91		gallon	25	900.00	22,500.00
93 Paint, TTC, Raw Sienna, Latex L 50 500.00 25,000.00 Premium Quality -	92	Paint, TTC, Burnt Sienna, Latex	L	50	500.00	25,000.00
Premium Quality L 50 500.00 94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 95 Panel Board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole Main; 2 pcs. 20 pc 1 5,000.00 5,000.00 97 Panel Board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole Main; 2 pcs. 20 2						
94 Paint, TTC, Red Toloudine, Latex L 50 500.00 25,000.00 Premium Quality pc 1 5,000.00 5,000.00 5,000.00 panel Board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole Main; 2 pcs. 20 amperes, 1 5,000.00 5,000.00 96 Pipe, (G.I.), 3/4" ϕ x 20' length 2 1,000.00 2,000.00 97 Welding Rod, Fc6013, 3/32" kl 1 150.00 2,000.00 98 Pipe, (G.I.), Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 4", Sched 80 length 2 6 80.00 2,080.00 100 Pipe Fittings (G.I.) Nipple, 1/2" x 4", Sched 80 length 5 150.00 750.00 101 Pipe, (PC) Blue, 3/4" x 10' length 5 150.00 750.00 102 Piywood, Marine, 1/2" (thickness) x 4' x 8' piece 40 900.00 36,000.00 103 Piywood, Marine, 1/4" (thickness) x 4' x 8' piece 33 550.00 <td>93</td> <td>Paint, TTC, Raw Sienna, Latex</td> <td>L</td> <td>50</td> <td>500.00</td> <td>25,000.00</td>	93	Paint, TTC, Raw Sienna, Latex	L	50	500.00	25,000.00
Premium Quality pc 1 5,000.00 95 Panel Board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole Main; 2 pcs. 20 amperes, pc 1 5,000.00 2 poles,; 2 pcs. 30 amperes 2 pole; 1 pc 15 amperes 2 1 5,000.00 96 Pipe, (G.I.), 34" \$\phi x 20' length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 98 Pipe, Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 98 Pipe Fittings (G.I.), Tee, 1/2" x 4", Sched 80 pcs 30 50.00 1,500.00 98 Pipe Fittings (G.I.), Tee, 1/2" x 4", Sched 80 pcs 30 50.00 1,500.00 99 Pipe Fittings (G.I.), Tee, 1/2" 4" piece 1 50.00 50.00 100 Pipe, (PVC) Blue, 3/4" x 10" length 5 150.00 750.00 101 Pipe, 00d, Marine, 1/2"(thickness) x 4" x 8' piece 8 550.00 4,400.00 102 Piywood, Marine, 1/						
95 Panel Board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole Main; 2 pcs. 20 amperes, 2 pole; 2 pcs. 30 amperes 2 pole; 1 pc 15 amperes 2 pole; 1 5,000.00 5,000.00 96 Pipe, (G.I.), 3/4" \$ x 20' length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 99 Pipe Fittings (G.I.) Nipple, 1/2" x 4", Sched 80 length 26 80.00 2,080.00 100 Pipe Fittings (G.I.) Nipple, 1/2" x 4", Sched 80 length 5 150.00 750.00 101 Pipe, (PVC) Blue, 3/4" x 10" length 5 150.00 750.00 102 Piywood, Marine, 1/4"(thickness) x 4" x 8" piece 8 550.00 4,400.00 103 Piywood, Marine, 3/4" x 10" unit	94		L	50	500.00	25,000.00
panel board, 6 holes plug-in type, copper bush bar, single phase, 60 amperes, 2 pole Main; 2 pcs. 20 amperes, 2 poles; 2 pcs. 30 amperes 2 pole; 1 pc 15 amperes 2 pole pole 96 Pipe, (G.I.), 3/4"\$\phi x 20' length 2 1,000.00 2,000.00 97 Welding Rod, E-6013, 3/32" kl 1 150.00 150.00 97 Welding Kod, E-6013, 3/32" kl 1 150.00 150.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 98 Pipe Fittings (G.I.), Tep 1/2" & C", Sched 80 length 26 80.00 2,080.00 99 Pipe Fittings, (G.I.), Tep 1/2" & C", Sched 80 piece 1 50.00 50.00 910 Pittings, (G.I.), Tep 1/2" & C", Sched 80 length 5 150.00 750.00 910 Pitor, Guality 1 5 150.00 750.00 910 Pipe (G.I.), Marine, 1/4" (thickness) x 4" x 8" piece 40 900.00 36,000.00 910 Plywood, Marine, 1/4" (thickness) x 4" x 8" piece 33 550.00 <td< td=""><td></td><td>· · · · · ·</td><td></td><td></td><td></td><td></td></td<>		· · · · · ·				
single phase, 60 amperes, 2 pole Main; 2 pcs. 20 amperes, 2 poles; 2 pcs. 30 amperes 2 pole; 1 pc 15 amperes	95		рс	1	5,000.00	5,000.00
amperes. amperes. 2 poles.; 2 pos. 30 amperes 2 pole; 1 pc 15 amperes 2 96 Pipe, (G.I.), 3/4" \$\phi 20' length 2 97 Welding Rod, E-6013, 3/32" kl 1 150.00 2,000.00 98 Pipe, (G.I.), 3/4" \$\phi x 20' kl 1 150.00 2,000.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pecs 30 50.00 2,080.00 90 Pipe Fittings (G.I.) Nipple, 1/2" x 6", Sched 80 length 26 80.00 2,080.00 100 Pipe Fittings (G.I.) Nipple, 1/2" x 6", Sched 80 length 5 150.00 750.00 101 Pipe (PVC) Blue, 3/4" x 10" length 5 150.00 750.00 102 Piywood, Marine, 1/4"(thickness) x 4" x 8" piece 8 550.00 4,400.00 Standard, Good Quality						
2 poles,; 2 pcs. 30 amperes 2 pole; 1 pc 15 amperes 2 pole						
2 pole Image: constraint of the second						
96 Pipe, (G.I.), 3/4" \$\phi x 20' length 2 1,000.00 2,000.00 Sched 40, Good Quality						
Sched 40, Good Quality Image: Constraint of the second secon						
97 Welding Rod, E-6013, 3/32" kl 1 150.00 Premium Quality	96		length	2	1,000.00	2,000.00
Premium Quality Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 99 Pipe Fittings (G.I.) Nipple, 1/2" x 6", Sched 80 length 26 80.00 2,080.00 100 Pipe Fittings, (G.I.) Nipple, 1/2" x 6", Sched 80 length 26 80.00 2,080.00 101 Pipe Fittings, (G.I.) Tee, 1/2" & 6", Sched 80 length 5 150.00 50.00 101 Pipe, (PVC) Blue, 3/4" x 10" length 5 150.00 750.00 102 Piywood, Marine, 1/2" (thickness) x 4' x 8' piece 40 900.00 36,000.00 Standard, Good Quality	07				450.00	150.00
98 Pipe Fittings (G.I.) Nipple, 1/2" x 2", Sched 80 pcs 30 50.00 1,500.00 99 Pipe Fittings (G.I.) Nipple, 1/2" x 6", Sched 80 length 26 80.00 2,080.00 100 Pipe Fittings (G.I.) Tee, 1/2" x 6", Sched 80 length 26 80.00 2,080.00 100 Pipe Fittings (G.I.) Tee, 1/2" x 6", Sched 80 length 5 150.00 50.00 101 Pipe Good Quality 1 5 150.00 750.00 101 Pipe, (PVC) Blue, 3/4" x 10' length 5 150.00 750.00 102 Plywood, Marine, 1/2"(thickness) x 4' x 8' piece 40 900.00 36,000.00 Standard, Good Quality - - - - - 103 Plywood, Marine, 1/4"(thickness) x 4' x 8' piece 8 550.00 18,150.00 104 Plywood, Marine, 3/4" (thickness) x 4' x 8' piece 90 1,550.00 139,500.00 Standard, Good Quality - - - - - -	97		KI	1	150.00	150.00
99 Pipe Fittings (G.I.) Nipple, 1/2" x 6", Sched 80 length 26 80.00 2,080.00 100 Pipe Fittings, (G.I.), Tee, 1/2"Ø piece 1 50.00 50.00 Schedule 40, Good Quality - - - - - 101 Pipe, (PVC) Blue, 3/4" x 10" length 5 150.00 750.00 Sched 40, Durable, Good Quality -	00			00	50.00	4 500 00
100 Pipe Fittings, (G.I.), Tee, 1/2"Ø piece 1 50.00 50.00 Schedule 40, Good Quality Iength 5 150.00 750.00 101 Pipe, (PVC) Blue, 3/4" x 10' Iength 5 150.00 750.00 Sched 40, Durable, Good Quality Iength 5 150.00 750.00 102 Plywood, Marine, 1/2"(thickness) x 4' x 8' piece 40 900.00 36,000.00 Standard, Good Quality Image: Standard, Good Quality						
Schedule 40, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Image: Cool of the system Sched 40, Durable, Good Quality Image: Cool of the system Image: Cool of the syst						
101 Pipe, (PVC) Blue, 3/4" x 10' length 5 150.00 750.00 Sched 40, Durable, Good Quality	100		piece	1	50.00	50.00
Sched 40, Durable, Good Quality Image: Constraint of the system of the sys	101		l a va artika	F	450.00	750.00
102 Plywood, Marine, 1/2"(thickness) x 4' x 8' piece 40 900.00 36,000.00 Standard, Good Quality	101		length	5	150.00	750.00
Standard, Good Quality piece 8 550.00 4,400.00 Standard, Good Quality piece 8 550.00 4,400.00 Standard, Good Quality piece 33 550.00 18,150.00 104 Plywood, Marine, 1/4"(thickness) x 4' x 8' piece 33 550.00 18,150.00 105 Plywood, Marine, 3/4"(thickness) x 4' x 8' piece 90 1,550.00 139,500.00 Standard, Good Quality	100		nicos	40	000.00	26,000,00
103 Plywood, Marine, 1/4"(thickness) x 4' x 8' piece 8 550.00 4,400.00 Standard, Good Quality	102		piece	40	900.00	30,000.00
Standard, Good Quality Image: St	102		niaca	0	550.00	4 400 00
104 Plywood, Marine, 1/4"(thickness) x 4' x 8' piece 33 550.00 18,150.00 Standard, Good Quality	103		piece	0	550.00	4,400.00
Standard, Good Quality Image: St	104		niaca	22	550.00	19 150 00
105 Plywood, Marine, 3/4"(thickness) x 4' x 8' piece 90 1,550.00 139,500.00 Standard, Good Quality	104		piece	55	550.00	10,130.00
Standard, Good QualityImage: Standard, Good QualityImage: Standard, Good Quality106Polyurethane Top coatgallon101,900.00107Push cart/ Hand truck trolley (pneumatic tire wheels)unit13,500.00107Size: 48"H × 20"W × 17-3/4"DImage: Standard, Good Quality × 8"DImage: Standard, Good Quality × 8"D108Nose Plate Size: 14"W × 8"DImage: Standard, Good Quality × 8"DImage: Standard, Good Quality × 8"D109Wheel: 10" Pneumatic tiresImage: Standard, Good Quality × 8"DImage: Standard, Good Quality × 8"D100Capacity 2 wheel set-up: at least 500LBSImage: Standard, Good Quality × 8"DImage: Standard, Good Quality × 8"D108R410a 3 Way AC Diagnostic Manifold Gauge Set for Freon Charging Fits R32 R410a R 404A R 134a Refrigeset14,300.00108Brand Name : mythtigerImage: Standard R 404A R 134a Refrigeset14,300.00109Display Type : ANALOGImage: Standard R 404A R 134AImage: Standard R 404A R 14Image: Standard R 404A R 14110Model Number : For R410A R32 R404A R134AImage: Standard R 404A R 14Image: Standard R 404A R 14Image: Standard R 404A R 14	105	Plywood Marine 3/4"(thickness) x 4' x 8'	niece	90	1 550 00	139 500 00
106 Polyurethane Top coat gallon 10 1,900.00 19,000.00 107 Push cart/ Hand truck trolley (pneumatic tire wheels) unit 1 3,500.00 3,500.00 107 Size: 48"H × 20"W × 17-3/4"D unit 1 3,500.00 3,500.00 108 Size: 14"W × 8"D unit 1 3,500.00 10 109 Wheel: 10" Pneumatic tires unit 1 10 10 10 10 10 10 10 100.00 100.00 10 10 100.00 10 10 100.00 10 10 10 10 100.00 10 10 100.00 10	105		piece	30	1,000.00	133,300.00
107Push cart/ Hand truck trolley (pneumatic tire wheels)unit13,500.00Size: 48"H × 20"W × 17-3/4"DNose Plate Size: 14"W × 8"DWheel: 10" Pneumatic tiresCapacity 2 wheel set-up: at least 500LBSR410a 3 Way AC Diagnostic Manifold Gauge Set for Freon Charging Fits R32 R410a R 404A R 134a Refrigeset1Brand Name : mythtigerOrigin : CN(Origin)Display Type : ANALOGModel Number : For R410A R32 R404A R134A	106		gallon	10	1 900 00	19 000 00
107 wheels) unit 1 3,500.00 3,500.00 Size: 48"H × 20"W × 17-3/4"D Nose Plate Size: 14"W × 8"D Wheel: 10" Pneumatic tires Capacity 2 wheel set-up: at least 500LBS R410a 3 Way AC Diagnostic Manifold Gauge Set						
Size: 48"H × 20"W × 17-3/4"D Image: style="text-align: center;">Image: style="text-align: center;">Image: style="text-align: style="text-align: center;">Image: style="text-align: style="text-align: center;">Image: style="text-align: style="text-align: style="text-align: center;">Image: style="text-align: sty	107		unit	1	3,500.00	3,500.00
Nose Plate Size: 14"W × 8"DImage: Constraint of the sector of						
Wheel: 10" Pneumatic tiresImage: Capacity 2 wheel set-up: at least 500LBSR410a 3 Way AC Diagnostic Manifold Gauge Set for Freon Charging Fits R32 R410a R 404A Rset14,300.00134a RefrigeImage: Set14,300.004,300.00Brand Name : mythtigerImage: Set114,300.00Origin : CN(Origin)Image: SetImage: Set11Display Type : ANALOGImage: SetImage: SetImage: SetImage: SetModel Number : For R410A R32 R404A R134AImage: SetImage: SetImage: Set						
Capacity 2 wheel set-up: at least 500LBSImage: Capacity 2 wheel set-up: at least 500LBS108R410a 3 Way AC Diagnostic Manifold Gauge Set for Freon Charging Fits R32 R410a R 404A R 134a Refrigeset14,300.00Brand Name : mythtigerImage: CN(Origin)Image: CN(Origin)Image: CN(Origin)Display Type : ANALOGImage: CN(Origin)Image: CN(Origin)Model Number : For R410A R32 R404A R134AImage: CAPACITAL Copy of the set of the						
R410a 3 Way AC Diagnostic Manifold Gauge Set for Freon Charging Fits R32 R410a R 404A Rset14,300.00134a RefrigeSet14,300.00Brand Name : mythtigerImage: CN(Origin)Image: CN(Origin)Display Type : ANALOGImage: CN(Origin)Image: CN(Origin)Model Number : For R410A R32 R404A R134AImage: CN(Origin)Image: CN(Origin)						
108for Freon Charging Fits R32 R410a R 404A R 134a Refrigeset14,300.00Brand Name : mythtigerImage: CN(Origin)Image: CN(Origin)Image: CN(Origin)Display Type : ANALOGImage: CN(Origin)Image: CN(Origin)Model Number : For R410A R32 R404A R134AImage: CN(Origin)Image: CN(Origin)						
134a Refrige Image: Constraint of the second se	108		set	1	4,300.00	4,300.00
Brand Name : mythtiger Image: CN(Origin) Origin : CN(Origin) Image: CN(Origin) Display Type : ANALOG Image: CN(Origin) Model Number : For R410A R32 R404A R134A Image: CN(Origin)					,	,
Display Type : ANALOG Model Number : For R410A R32 R404A R134A						
Display Type : ANALOG Model Number : For R410A R32 R404A R134A						
Model Number : For R410A R32 R404A R134A						
Retrigerant Manifold Gauge Air Condition Ref						
		Kerrigerant Manifold Gauge Air Condition Ref				



	Certification : NONE				
	Max Measuring Range : 200 PSI - Above				
	Dial Diameter : 1.9 Inches - Under				
109	Rainboots, Size: 6 (Women), Blue	pair	3	365.00	1,095.00
103	Hi-cut, Seamless injection for good waterproofing,	pan	5	303.00	1,035.00
	Premium Quality				
110	Rainboots, Size: 7 (Women), Black	pair	2	365.00	730.00
	Hi-cut, Seamless injection for good waterproofing,				
	Premium Quality				
111	Rainboots, Size: 8 (Men), Black	pair	3	365.00	1,095.00
	Hi-cut, Seamless injection for good waterproofing,				
	Premium Quality				
112	Rainboots, Size: 9 (Men), Black	pair	1	400.00	400.00
	Hi-cut, Seamless injection for good waterproofing,				
	Premium Quality				
113	Receptacle Socket, 4" x 4"	pcs	5	50.00	250.00
114	Ridge Roll, 0.6mm x 2.40 big, pre-painted	pcs	50	600.00	30,000.00
115	Ridge Roll, 8'	piece	60	527.00	31,620.00
116	Roof Paint, Casa Blue	gallons	178	950.00	169,100.00
117	Rotating Lawn Sprinkler, 360 degrees	рс	5	450.00	2,250.00
	Type: Lawn Sprinkler Material: ABS				
	Features: 360 degrees rotating and adjustable spraying angle				
118	Round file, 3/16" x 7-7/8" for Chainsaw	pcs	30	300.00	9,000.00
119	Safety Googles Eye Protection	piece	2	260.00	520.00
115	Comfort Features: Adjustable Temples, Brow and	piece	2	200.00	520.00
	nose bridge, Integrated sideshields, Polycarbonate				
	lens				
	Eyewear Range: Economy				
	Frame Material: Plastic				
	Frame Style/Type: Frameless				
	Lens Coating: Anti-Fog				
	Lens Color: Clear				
	Product Series: Plus				
	Product Type: Safety Glasses				
120	Sharpening Stone, Silicon	piece	2	220.00	440.00
120	Carbide(Carborundum), 6", original	piece	2	220.00	440.00
121	Sheets, (G.I.) Corrugated, Gauge 26 (0.40mm)	sheet	70	990.00	69,300.00
	12'				
	Standard width, Good Quality;				
122	Sheets, (G.I.) Corrugated, (0.5mm thickness) 4' x	рс	100	700.00	70,000.00
123	10' Shovel Tempered steel and a		3	200.00	000.00
123	Shovel, Tempered steel spade Heavy duty wooden handle, Good quality	piece	3	300.00	900.00
124	Skim Coat, 20kg/bag	bag	110	550.00	60,500.00
124	Good water vapor permeability	Day	110	550.00	00,300.00
	Excellent bonding to concrete				
125	Soil Sampler with Pedal and Handle	piece	1	5,000.00	5,000.00
120	Material: Quality Stainless steel	p1000		0,000.00	0,000.00
	Length: ~ 36 inches (91.5cm)				
	Core sample Area: 7 inches				
	Foot pedal: Yes				
	T-bar Handle: Yes				
	Item weight: ~ 1.22 kg				
	Item dimension: ~ 37.1 x 10 x 1.3 inches				
	Item inclusion: Sampling tube				





		50's			
127	Tex Screw, Metal, 2"	pcs	1500 0	5.00	75,000.00
128	Tile Adhesive, 25kg/bag	bags	46	380.00	17,480.00
129	Tiles, 40cm x 40cm, Floor Unskid, Brown	piece	215	78.00	16,770.00
100	Toilet bowl water closed with complete			10,000,00	
130	accessories	sets	2	10,000.00	20,000.00
	Material : Ceramic. Type : Toilet Bowl Set with Seat				
	Cover and Flush Set. With free toilet flange. More				
	efficient water design. High efficiency pressurization				
	of effluent. 360 comprehensive package. Rapid				
	blowdown of pip3lines. More water saving double				
	gear design. Full flush and Half flush. Large key				
	water can be adjusted by 5.8 - 6.2L. Stronger urea				
	formaldehyde cover plate. Easier and faster - Easy				
	to disassemble the cover seat with one key, easy to				
	clean. Antibacterial mute without disturbing people.				
	UF cover plate. Jet siphon. Flushing. Small flush -				
	3L. Big flush - 6L. Microcrystalline nano glaze.				
	Widened base ring for long sitting comfort. The				
	thickness of more professional glazing technology is about 1.8mm. 360 degree full pipe intelligent				
	cleaning, easy to clean glaze without pollution. 1280				
	high temperature integrated forging has high density				
	and is not easy to crack. The rubber material is				
	thickened and has strong sealing performance				
	which can effectively seal the gap between the toilet				
	at the sewage outlet and the floor tile, and inhibit the				
	odor overflow of the pipeline. Deodorization blocking				
131	W Clip for Double Furring, (0.40mm thickness)	pieces	2000	6.00	12,000.00
132	Wood Preservative Clear	gallons	10	2,000.00	20,000.00
133	Galvanized Pressurized Tank	unit	1	35,000.00	35,000.00
	■85 liters				
	I Hp (250watts) self priming Jet Water Pump				
134	Table Drawer Handle	pcs	20	66.00	1,320.00
	Table drawer handle				
	■length-96mm				
	Black				
	■aluminum				
135	Drawer lock with 2 keys, 19 x 32 mm, High	pcs	20	170.00	3,400.00
	Quality Zinc Alloy Material	•			
136	Good Lumber, 2" x 6" x 12'	pcs	8	1,400.00	11,200.00
137	Electrical Wire, PDX Gauge 12, 75 meters per roll	rolls	2	5,000.00	10,000.00
	Thermoplastic Wire rated at 60°C, 600V				
400	Pure Copper MCP Ministers Circuit Prester 204		4	500.00	2 000 00
138	MCB Miniature Circuit Breaker, 20A	pcs	4	500.00	2,000.00
	©2-Pole ©50-60Hz				
	©230/415 VAC				
	In El 230/415 VAC				
		pcs	23	50.00	1,150.00
120	Electrical Junction Box 4" x 4"		20	30.00	1,100.00
139	Electrical, Junction Box, 4" x 4"				
139	Heat resistant				
139	Heat resistant Waterproof				
	Heat resistantWaterproofUL certified			135.00	675.00
139 140	 Heat resistant Waterproof UL certified Cable Tie 	packs	5	135.00	675.00
140	 Heat resistant Waterproof UL certified Cable Tie nylon 6 inches, 50pcs/pack 	packs	5		
	 Heat resistant Waterproof UL certified Cable Tie 			135.00 60.00	675.00 300.00



	Flame retardant and compatible with plastic cable				
	and wire harness insulations				
	Flexible PVC with aggressive rubber adhesive				
	Primary electrical insulation for all wire and cable				
	splices rated up to 600 volts.				
	■19mm x 16m x 0.155mm				
	Proving a construction of the constructio				
	ASTM approved				
143	8 Way MCB Distribution Box	n 00	4	700.00	2 900 00
143		pcs	4	700.00	2,800.00
	Waterproof and Dustproof				
	Indoor wall, Mounted Type Electrical LED flood Lights, (Metal Halide), 400				
144		pcs	2	6,000.00	12,000.00
145	Watts	naaka	10	150.00	1 500 00
145	Cable Tie, 4" x 250mm, 100pcs/pack	packs	10	150.00	1,500.00
4.40	nylon, 4 x 250mm			000.00	4 000 00
146	Insulation Adhesive Electrical Tape, 30mm	rolls	5	200.00	1,000.00
147	Angle Bar, 1/4" or 6mm(thickness) x 2" x 2" x	length	2	1,300.00	2,600.00
	20', standard			,	,
	■Premium Grade				
148	Paint, QDE, White	gallons	6	850.00	5,100.00
	Premium Quality Paint				
149	Hinges, Ball Tip, 3" x 2"	pcs	16	150.00	2,400.00
	Durable, Good quality				
150	Nails, Common Wire, 2-1/2"	kgs	10	90.00	900.00
	Rebidding (from GOODS-22-40)				
151	Acrylic Waterproofer & Sealer	L	1	800.00	800.00
	1 Liter,				
	An acrylic-based waterproofing and sealer product				
	for jointless sealing and repair of roofs and walls.				
	Recommended for concrete, ceramic, tegula and				
	metal surfaces,				
	also suitable for wood and plastic.				
152	Balanced Microphone Cable, 100meter	rolls	3	7,000.00	21,000.00
	Heavy duty				•
	Three Conductors				
	Ground with cotton shield				
	Compatible for XLR, TS & TRS connectors				
153	Cordless Hammer Drill Kit 18V	set	1	14,000.00	14,000.00
	Compact and lightweight design	001	•	1,000.00	1 1,000100
	All metal gear construction				
	Capacity: Steel: at least 13 mm (1/2") /Wood: at				
	least 36 mm (1-7/16") /Masonry: at least 13 mm				
	(1/2")				
	Impacts per minute (IPM):High: 0-19,500 / Low: 0-				
	6,000				
	No Load Speed (RPM):High: 0-1,300 / Low: 0-400				
	Max Fastening Torque:Hard / Soft: 42 / 27 N·m				
	Max Pasterning Torque. Hard 7 Solt. 42 7 27 N·m Max lock torque:38 N·m (340 in.lbs.)			<u>├</u>	
	Net weight: 1.7-2.0kg				
	complete with necessary accessories				
154	Earth Auger Drill Bit (300mm) for Post Hole	pcs	2	3,000.00	6,000.00
155	Digger		4	8 000 00	
155	Electrical, Crimping Tool with O & D, 25"	рс	1	8,000.00	8,000.00
	For wire gauge range:				
	Copper wire: 6-250 MCM				
	Aluminum wire: 8-3/0				
156	GRASS CUTTER, 4 stroke	unit	1	20,000.00	20,000.00
157	Heavy Duty Knife Switch (Double Throw) 100A,	рс	3	10,800.00	32,400.00
	Single phase	F 7	-	.,	,





158	Heavy Duty Socket Wrench Set (1/4" & 1/2" Drive), 94 pcs	set	1	14,000.00	14,000.00
	■13 Pcs. 1/4" Drive				
	Sockets:4,4.5,5,5.5,6,7,8,9,10,11,12,13,14mm				
	■8 Pcs. 1/4" Drive Deep				
	Sockets:6,7,8,9,10,11,12,13mm				
	■ 17 Pcs. 1/4" Drive Bits Socket:				
	FD4,5.5,7,PH1,2,PZ1,2,HW3,4,5,6,T8,10,15,20,25,3				
	0 I Pc. 1/4" Drive Bit Adaptor				
	 I Pc. 1/4" Drive Universal Joint 				
	 I Pc. 1/4" Drive Quick Release Ratchet Handle 				
	 I Pc. 1/4" Drive Spinner Handle:6" 				
	I Pc. 1/4" Drive Flexible Extension Bar:6"				
	©2Pcs. 1/4" Drive Extension Bars:2",4"				
	■1 Pc. 1/4" Drive Sliding T Bar				
	■18 Pcs. 1/2" Drive				
	Sockets: 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23,				
	24,27,30,32mm				
	@4Pcs. 1/2" Drive Deep Sockets:14,15,17,19mm				
	2Pcs. 1/2" Drive Spark Plug Sockets:16,21mm				
	■1Pc. 1/2" Drive Bit Adaptor				
	■2Pcs. 1/2" Drive Extension Bars:5",10"				
	■1Pc. 1/2" Drive Universal Joint				
	IPc. 1/2" Drive Quick Release Ratchet Handle				
	■15Pcs. 8mm*30mm Bits:FD8,10,12 T40,45,50,55				
	PH3,4 PZ3,4 HW8,10,12,14				
	■1Pc. 1/2" Drive 3-Way Adaptor				
150	© 3 Pcs. Hex Keys: 1.5,2,2.5mm			4 000 00	
159	Heavy Duty Web Sling Belt, 5Tx2M	pcs	2	1,000.00	2,000.00
	Heavy Duty Lifting Belt Rope, Webbing Sling Belt				
	with Double Reinforced Eye Flat, 3Tx2M Molded Case Breaker, (Bolt on type), 100 amps 2				
160	pole Center main MCCB	рс	5	3,000.00	15,000.00
161	Paint, Automotive, Lacquer, White	gallon	1	1,250.00	1,250.00
162	Paint, Java Moss (Elastomeric Waterproofing)	gal	60	750.00	45,000.00
	Professional Heavy Duty Wire Stripper &				
163	Crimper	sets	1	3,500.00	3,500.00
164	Ridge Roll, 0.6mm x 2.40 big, pre painted	pcs	200	600.00	120,000.00
165	Valley Gutter, 0.60mm x 2.40mm, Pre-painted	pcs	100	600.00	60,000.00
166	Walking Measuring Wheel, (10,000m)	unit	1	2,000.00	2,000.00
	Rebidding (from GOODS-22-41)				
167	10 Watts LED Single-Surface mounted Downlights	set	12	1,600.00	19,200.00
	LED Single-Surface Mounted downlights Square				
	Head spotlights Ceiling				
	<				
168	15 Watts LED Double-Surface Mounted Downlights	set	25	2,500.00	62,500.00
	LED Double-Surface Mounted Downlights Square Head Spotlight Ceiling				
	•				





400	50 watts LED spotlight RGB flood light			0.040.00	70 000 00
169	multicolor	set	30	2,640.00	79,200.00
	LED spotlight RGB flood light				
	Multicolor with changing color dimming lights				
	outdoor				
	Round type				
	230V AC supply				
170	Cross Arm, steel, 8 feet (standard)	pieces	1	2,550.00	2,550.00
	Cut-Out Set, Porcelain, 15 KV outdoor type with				
171	mounting bracket, with fuse holder, 15 K lighting	sets	1	10,450.00	10,450.00
	arrest				
172	Electrical Square Box (PVC), 6" x 6"	pcs	60	470.00	28,200.00
173	Pole, Galvanized Steel (Hexagonal), 40'	length	1	35,500.00	35,500.00
174	Electrical Safety Circuit Breaker, 30A, (Box type)	pc	2	700.00	1,400.00
	Heavy Duty and Good quality Durable 220-240V				,
	Louver housing (Surface mount) 12"x 48" with				
175	T8 tube lights (2×40)	sets	25	1,400.00	35,000.00
	T8 Tube Lights, 2x40 louver housing, Surface type				
	mount 12"x 48"				
	Electrical Wire, AWG 4 (22 mm) , Service Drop				
176	(2C twisted)	meters	427	80.00	34,160.00
	Electrical Wire, AWG 6 (14 mm) , Service Drop				
177	(2C twisted)	meters	324	50.00	16,200.00
	Electrical Wire, THHN/THWN, AWG 2 (30 mm2),				
178	Stranded	meters	60	280.00	16,800.00
	Building Wire				
	Stranded with Nylon Insulation				
	Gauge 2				
470	UL listed		400	50.00	0.000.00
179	Wire, Duplex #14, PDX	meter	186	50.00	9,300.00
180	Electrical Conduit, (PVC) Orange, 1/2" x 3m	length	131	100.00	13,100.00
181	Electrical Wire, THHN / THWN, AWG 10	boxes	1	7,000.00	7,000.00
	(5.5mm2), Stranded, 150 meters/box		-	.,	.,
	Building Wire				
	Stranded with Nylon Insulation				
	■Gauge 10				
	■UL listed				
182	Electrical, Pipe, (PVC) Orange, 3/4"(25mm) x 3m	length	132	150.00	19,800.00
	Sched 40, Durable, Good Quality				
	Rebidding (from GOODS-22-43)				
100	Electrical Wire, THHN/THWN, AWG 4 (22mm2),			050.00	
183	Stranded	meters	220	250.00	55,000.00
	Extension wire with 4 gang Universal				
184	Convenience Outlet, at least 10m long	рс	1	500.00	500.00
	at least 10 amperes wire capacity				
	· · · ·		_		
185	Insulation Adhesive Electrical Tape, 30mm	roll	5	200.00	1,000.00
186	LED High Mast Flood Lights 600 watts Daylight	set	20	35,000.00	700,000.00
	LED High Mast Flood Light 600 watts Daylight		_		
	Luminous Flux: 84000 Im				
	Driver: Meanwell Driver				
	Color Temperature: 5500-6500 K/Daylight	1			
	$Input Voltago' (C 05_205) / 50/60 U7$	1			
	Input Voltage: AC 95-305V 50/60 Hz				
	Material: aluminum Housing + Acrylic Cover				
	Material: aluminum Housing + Acrylic Cover Beam angle: 140 Degrees				
	Material: aluminum Housing + Acrylic Cover Beam angle: 140 Degrees Lifetime: > 50,000 hours				
	Material: aluminum Housing + Acrylic Cover Beam angle: 140 Degrees				



	The second se				
187	Louver housing (Surface mount) 12"x 48" with T8 tube lights (2 x 40)	sets	3	1,400.00	4,200.00
	T8 Tube Lights, 2x40 louver housing, Surface type mount 12"x 48"				
100	Tapping Screw Black 1", box of 50's	hov	100	50.00	F 000 00
188	Tapping Screw Diack T, DOX 01 50 S	box	100	50.00	5,000.00
				TOTAL:	4,169,555.00

finans r

DILBERTO O. FERRAREN BAC Chairman